
Revision Progress Test 1 – Investment Appraisal
Question 1

LEE is a manufacturing entity located in Newland, a country with the dollar ($) as its currency. LOR is a leasing entity that is also located in Newland.
LEE plans to replace a key piece of machinery and is initially considering the following two approaches:
· Alternative 1 – purchase the machinery, financed by borrowing for a five-year term;

· Alternative 2 – lease the machinery from LOR on a five-year operating lease.
The machinery and maintenance costs

The machinery has a useful life of approximately 10 years, but LEE is aware that the industry is facing a period of intense competition and the machinery may not be needed in five years’ time. It would cost LEE $5,000 to buy the machinery, but LOR has greater purchasing power and could acquire the machinery for $4,000.
Maintenance costs are estimated to be $60 in each of years 1 to 3 and $100 in each of years 4 and 5, arising at the end of the year.
Alternative 1 – purchase financed by borrowing for a five year term

$ interbank borrowing rates in Newland are currently 5.5% per annum. LEE can borrow at interbank rates plus a margin of 1.7% and expects $ interbank rates to remain constant over the five year period. It has estimated that the machinery could be sold for $2,000 at the end of five years.
Alternative 2 – five year operating lease

Under the operating lease, LOR would be responsible for maintenance costs and would charge LEE lease rentals of $850 annually in advance for five years.
LOR knows that LEE is keen to lease rather than buy the machine and wants to take advantage of this position by increasing the rentals on the operating lease. However, it does not want to lose LEE’s custom and requires advice on how high a lease rental LEE would be likely to accept.
Tax regulations

Newland’s tax rules for operating leases give the lessor tax depreciation allowances on the asset and give the lessee full tax relief on the lease payments. Tax depreciation allowances are available to the purchaser of a business asset at 25% per annum on a reducing balance basis. The business tax rate is 30% and tax should be assumed to arise at the end of each year and be paid one year later.
Alternative 3 – late proposal by production manager

During the evaluation process for Alternatives 1 and 2, the production manager suggested that another lease structure should also be considered, to be referred to as “Alternative 3”. No figures are available at present to enable a numerical evaluation to be carried out for Alternative 3. The basic structure would be a five-year lease with the option to renew at the end of the five-year term for an additional five-year term at negligible rental. LEE would be responsible for maintenance costs.
Required:
(a)
(i)
Use discounted cash flow analysis to evaluate and compare the cost to LEE of each of Alternatives 1 and 2.
(9 marks)

(ii)
Advise LOR on the highest lease rentals that LEE would be likely to accept under Alternative 2.
(4 marks)

(b)
Discuss both the financial and non-financial factors that might affect LEE’s choice between Alternatives 1, 2 and 3. No further calculations are required in part (b).
(12 marks)



(Total 25 marks)

Question 2

Background to company

C&C Airlines operates a small fleet of aeroplanes from an airport in the United Kingdom. Its business is aimed at low-budget travelers on short-haul flights. The company was formed some years ago by a group of private investors who continue to own the company. Two of these investors take an active role in the management of the company as executive directors.

The shareholders’ objectives is long-term capital growth. They have taken relatively low dividends out of the company since its incorporation. The strategy has been to accept low, or no, profits, and build the brand name and market share in its niche market. Their ‘exit strategy’ is eventually to sell a majority holding in the company following either a stock market flotation or private sale of shares to another company.

Assets and turnover

C&C Airlines currently own 12 planes, mainly Boeing 737s. It has bought all of them second-hand from the major airlines.

The company’s total net assets are currently, and realistically, valued at £130 million. It is all-equity financed. The turnover in the last full financial year was £85 million. The forecast turnover for the current year is £98 million. Profits after tax are forecast as £18 million.

Proposed investment

The company’s directors are examining a strategic move into the long-haul market. The initial investment involves the purchase of a five-year-old Boeing 757, which will be used to fly to and from the Caribbean. Negotiations to buy this plane are already underway. C&C Airlines plans to operate the plane for three years and replace it at the end of this time with a newer model.

When fully loaded, this type of plane will carry 220 passengers. The company estimates an average return fare of £300 per passenger on this route. All income will be received in £ sterling. The company’s estimates of average passenger loading are as follows:

	
	Probability of load being achieved

	Load
	Year 1
	Year 2-3

	100% (all seats taken)
	10%
	15%

	80% full
	50%
	60%

	50% full
	30%
	20%

	40% full
	10%
	5%


The plane is expected to make 6 return trips every week and be operational 48 weeks of the year.

The capital costs of the purchase of the plane are US$30 million. To date, C&C Airlines has spent £500,000 on market research and purchase negotiations. Other financial data associated with the venture are:

· Capital allowances are available at 25% on a reducing balance of the total capital cost.

· The estimated resale value of the plane 3 years after purchase, in nominal terms, is US$16 million.

	Cash operating costs (per annum)
	

	Sterling-denominated costs such as maintenance, insurance, crew wages, salaries and training
	£2.9 million

	US$-denominated fuel costs
	US$4.2 million

	
	

	Overheads and other costs (per annum)
	

	Administration and office space (These costs include a £50,000 re-allocation of current head office costs.)
	£0.3 million

	Advertising and promotion
	£0.35 million


Estimates of increases in income and income costs

The figures given above are all in nominal terms as at today. Because this is an increasingly competitive market, the company is unlikely to be able to increase fares in line with inflation. The best estimate is an annual increase of 2%. Operating costs (excluding fuel) are expected to increase by the annual UK rate of inflation (3%). Forecasting fuel costs is very difficult but best estimates are that they will rise by 5% each year over the next 3 years. Assume these inflationary increases commence in the first year of operations. Overheads and other costs are expected to be held constant in nominal terms.

Currency and inflation rates

· Current spot exchange rate is US$ 1.53/£1

· Estimated per annum inflation rates are as follows:

	UK
	3%

	USA
	4%


Inflation rates in the UK and USA are expected to remain at these levels.

Allowing for risks
The company’s new Finance Director would prefer to use a risk-adjusted discount rate. A competitor company to C&C Airlines has a quoted equity beta of 1.3 and a debt:equity ratio (based on market values) of 1 : 4. This is unlikely to change in the foreseeable future. The post-tax return on the market is expected to be 12% and the risk-free rate 5%. Assume a debt beta of 0.15.

Assumptions:

· Capital costs are paid immediately but all other cash flows occur at the year-end

· Taxation at 30% is paid or repaid at the end of the year in which the liability/repayment arises (that is, no time lag)

· The plane is acquired and becomes operational immediately

Required:

(a)
Calculate the discount rate to be used in the investment decision using the M&M theory and CAPM.
(4 marks)

(b)
Calculate the £ sterling NPV of the proposed investment in the new plane using the discount rate calculated in (a) above, rounded to the nearest 1%; and recommend, briefly, whether to proceed with the investment, based solely on your calculations above.

NPV should be calculated in sterling, converting US$ cash flows to sterling. Assume the theory of purchasing power parity applies when calculating exchange rates.
(21 marks)



(Total 25 marks)
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